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NR=EAAKEREE

A H KERE K EHET K

PAEQ (m’) x AAEE (u/m’) x KFH

7;‘-‘& J(’a‘f&ii 5 187t/ 3
AKEREE 7o/ m S EXS W)

A M B A5 &
TRESR 126 4/ m? BABQ (M) x AKBZ (/m)

B 4% 12370/ m? HAEQ (m*) x AKXKEFE (/m?)
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BB wEEE K& E T X

M2 FREREE | 553770/ ke i‘:; j—i . :*; ixlejé?( m*)+1,000( ki imZ))
2 BEEMAES | 139097 ke ﬁf;: %f;i;ii ( j/t;;;r(zw >+1,000<1Zgg;;3>

fise: BERAMMAREE11051A18&=75 mg/L

2.5 R KA P EEKKE
pHEEEHGREEHEREEARRES
I8 B wE&EE KEFEF A
1 ~pHRE&(E) 10070/ m? HAKEQ (m?) x 100 (7n/m?)
_ B pE x #EAKEQ(m?)+1,000(kg/m?)x 4
2~ £ IR 1,580t/ k B
FRER R e (/ke)
) 483414 x HKEQ (m?) + 1,000 (kg/m*) x4d
3 48R3 5 1,000 7%/ k 3
A2 R e %% (7/kg)
_ AR T E<HEAEQ(m?)+ 1,000 (kg/m®) x &
4 ~ = IF 159 t/k
ARAER e 2%% (7t/ke)
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QE—RBAHBZEG)K 2 HMTEZEARTAERARALETALE  RALKBARA AHR
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FESBHRAEEHER (R) &K -

3. —#MAPpH KE & EF X

5% B TBEF RE p I B A
1 [Cpe=pH=Cpu 0Up WE=0
4.0<pH<Cp. |IUp
2 I & =QwxUp
Cpu<pH=10.0 {1Up
pH<4.0 SUp
3 & =QwxUpx5
bH>10.0 5Up f=QuxUp
Qw=Hp B2 % RERBAIKEM) ; Cpr=EgmaFm -~ Cpu=iE ek
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Wq=Q 1Uq |k & =WqgxAxMxUq

Q<Wq=2Q |1.25Uq e # = [Q+ (Wq—Q) x1.25] xAxMxUq

1
2

3 RQ<Wq=4Q |[1.55Uq s = [Q+1.25Q+ (Wq—2Q) x1.55] xAxMxUq

4 BQ<Wq=8Q [1.93Uqc®E = [Q+1.25Q+2x1.55Q+ (Wq—4Q) x1.93] xAx MxUq

W= [Q+1.25Q+2x1.55Q+4x1.93Q+ (Wq—8Q) x2.41])

5 BQ<Wq=16Q 2.41 Uq S AXMXU
q

W= [Q+1.25Q+2x1.55Q+4x1.93Q +8x2.41Q+ (Wq—8Q)

6 [16Q<Wq 3 Uq 437 *AxMxUq

Wq= R 87 £ 4 @ 4 Ak K HE & (CMD/ 2 )
Uq=r A ARME(T/ 3F AR)

Q=T ¥ & %4 @8 sk A A B & (CMD/ 22 H) = 60
S L EX AL {ON))
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a#%| KHE (mglL) . KE sk B EF X (R)
Ed=Cp 1Uq | & =EdxQwxUq/1000
2 [Cp<Ed=125Cp 1.32Uq [k & = [Cp+ (Ed-Cp) x1.32] xQwxUg/1000
W % = [Cp+0.25Cpx1.32+ (Ed-1.25Cp) x1.74)

3 [1.25Cp<Ed=15Cp [1.74Uq < QwxUq/1000
wxUq.

&= [Cp+0.25Cpx1.32+0.25Cpx1.74 (Ed-1.5Cp)

4 |L5Cp<Ed=175Cp [.30Uq x2.30] xQwxUq/1000

& = [Cpt0.25Cpx1.32+0.25Cpx1.74+0.25 Cpx2.30

1.75Cp<Ed=2C

&= [Cpt0.25Cpx1.32+0.25Cpx1.74+0.25

<
6 pep=Ed U9 00x2.3040.25 Cpx3.03 (Ed-2Cp) x 4] xQw xUq/1000

QwW=FR P 4 F KB A YT EREFEHEAIERE (M)
Uq=73%7875 $ 2 I & B8 (/ ke)
Cp=73%3R75 L4 2 E Bk IR A (mg/L)

Ed=3%37% % ¥ B B X 2K H (mg/L)
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S8 KE (mg/L) - KE A E BT (A)
1 [Ed=Cp 1Uq |t % =EdxQwxUg/1000
2 lcp<Ed=1.25Cp 132Uq % = [Cpt+ (Ed-Cp) x1.32] xQwxUq/1000
%% = [Cp+r0.25Cpx1.32+ (Ed-1.25Cp) x1.74
3 [125Cp<Ed=1.5Cp |1.74Uq = e P ( P) ]
xQw>xUg/1000
%% = [Cp+0.25Cpx1.324+0.25Cpx1.74 (Ed-1.5C
4 [1L5Cp<Ed=1.75Cp p.30Uq b= LCp g P ( 2
x2.30] xQwxUg/1000
W = [Cp+0.25Cpx1.324+0.25Cpx1.74+0.25 Cpx2.30
1.75 Cp<Bd=2 C
> P P BO0SUA | By 750p) x3.03] xQwxUqg/1000
- . [ = [Cpr025Cpx1.32+0.25Cpx1.7440.25
<
P T lopx2.30+0.25 Cpx3.03 (Ed-2Cp) x 4] xQw xUq/1000

QW=FH F %4 FREAYAZEREFEMRBEAIK S (M)

Uq=3%9875 £z ik & B8 (/ ko)

Cp=73%3R75 L4 2 E Bk FRAE (mg/L)

Ed=3%3R77 % % B # HX 2 K H (mg/L)
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(2)EMBBREREE
L~ FHI5 R RESRMBEARE TR B E (T kg) kB o @ F
B (GEd)  HHRER
AR RE B B 14 iE 5 35 30 B
2itE A= 260 mg/L ¥ & %790 t/kg
7 B BB R, 50 mg/L #5790 t/kg
4K 0.005 mg/L ¥ & %39,500 7t /kg
& 0.03 mg/L ¥ & %7,900 7u/kg
sk 2.0 mg/L 4 1,580 t/kg &%
i 0.5 mg/L ¥4 % 1,580 u/kg
A ki 0.5 mg/L #4790 t/kg
4F) 3.0 mg/L #r & %790t /kg
By 1.0 mg/L ¥ & %790 t/kg
48 0.9 mg/L # & #790t/kg B4 B AR F KR KRR
110.1.15£47 (44 %0.7 mg/L) >
45 E B @ 2 B PR AR 3 A B
B4 -
4% 5.0 mg/L # 4 1,000 7t/kg
il 0.05 mg/L ¥4 #2,370 u/kg
4% 0.5 mg/L ¥4 %#2,370 u/kg
42 2.5 mg/L # 4 %1,580 7u/kg
% 0.5 mg/L ¥ & %1,00070/kg
#H 0.5 mg/L ¥ 4 1,000 7t/kg
il 5.0 mg/L ¥4 #1,580t/kg
AR ESR 10 mg/L ¥4 #1,000t/kg
S 3.0 mg/L ¥ 4 %1,00070/kg RED
BRAETERE 0.5 mg/L 4 1,580 t/kg
NN 400 — ¥ 4 %790 t/kg
o v R Y| 10 mg/L ¥4 #1,0007T/kg
By 48 1.0 mg/L #r4 %# 1,580 u/kg
aicth 15 mg/L ¥4 %#2,000 T/kg
At 1.0 mg/L ¥4 % 1,580 u/kg
Aty 1.0 mg/L ¥4 #7,900 t/kg
s (R keds B 30 mg/L & #1,000T/kg
)
BEERRY 1.37 mg/L & 7,900 /kg
4% 5.0 mg/L ¥4 1,580 u/kg
ARV AR 10 mg/L & 790 t/kg
mg/L 74 3,000 70/kg R EAR B KR KRR
5% 0.1 108.4.2915 iE. (8% %0.1mg/L) -
I AE A B R RAE -
mg/L 74 3,000 70/kg R EAR B KA KRR
i) 0.1 108.4.291% (48 £0.1mg/L) -
ML B R RAE -
] kR AR B OR KRR
48 8 1101418 | mg/L ¥ & %3,000T/kg 108.4.29% I (48 %0.6mg/L) -
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A HIAEB > sAANET
Hedp o T B Ae g AR
FTRE B E > BB D Ao
2 ex > B11041 4818 A
R R &8 mg/L 113414
1B AAZERRMETHEZEO6
mg/L > 34K 75 K F KiE % %)
AR RS XA E - &
45 T BT B E HA A2 3R P o
BARE -

2.0

mg/L

# 4 1,000 t/kg

R R
110.1.15&47 (8 &2mg/L) » #7
% HITE B R RRME -

il
B

15

mg/L

# 4 13,000 T/kg

&R 45 3B AR F KR K AR
108429 5 & ( # B B
15mg/L) > #7338 % H]78 B R ik
R FRAE ©

4.0

mg/L

& 45 B AR F R R K AR B
10842914 E (EE S8 B A&
4.0mg/L)> 3738 & 4138 B R i
i [RAE °

42 2RAIEB/HLERE
BBEEFITRALE Y
AP -

B WA KRR

2.0

mg/L

& 45 B AR F K R K AR E
110.1.15647(8 hF KRR A
2.0mg/L)> #7338 & 4|38 B R i
i [RAR ©

4 E22EATEE/FHLEE L
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#4 D MR ERB»BRERE

AN
R (mgl) pa PREARESETX (D)
1 [Ed=Cp 1Uq [ %&=0
2 |Cp<Ed=125Cp |1.32uq & = [Cp+ (Ed-Cp) x1.32] xQwxUq/1000
125Cp<Ed=1.5 Y& = [Cp+0.25Cpx1.32+ (Ed-1.25Cp) x1.74]
3 lep L7AUA L wxUq/1000
1.5Cp<Ed=1.75 W% = [Cp+0.25Cpx1.32+0.25Cpx1.74 (Ed-
4 Cp 23004 5cp) x2.30] xQwxUq/1000

W& = [Cp+0.25Cpx1.32+0.25Cpx1.74+0.25
Cpx2.30 (Ed-1.75Cp) x3.03] xQwxUq/1000
Y& — [Cp+0.25Cpx1.32+0.25Cpx1.74+0.25
6 2Cp<Ed 4Uq |Cpx2.30+0.25 Cpx3.03 (Ed-2Cp) x 4] xQw
xUq/1000

Qw=F P & T KEAERERE FRAAEAIHA E ()

5 1.75Cp<Ed=2Cp |3.03Uq

Uq=38:75 £z & E18(7T/ kg)
Cp=73%3875 L4 2 i Fi B IR A (mg/L)

Ed=3%3877 4 B HEk 2 K B (mg/L)

2 - APHMAEMKERBREBMAZETHLANEXBE TKREZHKE
B FRAB (R A RAKAR ) » RF3t g -

3~ BB EMTEBIRE > d ETRMAKT B GE RIRIFARERAT
FBR o NERE

4~ BARBRIEBZHHRAKRERME > GEEHRM AL TR2E L &

"RARARE ) 2 Y g AAKRIEESOE T -

Z-AHMERERRFEAR  EEMMARNEFETERARFERE
BARKECLFH AR) Y RIEZFAKKE > BIFALEHZLNEZ o
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TRTARE -
R i A [

sef W RNERUEAP(PEFIE -REIAM L2 F)
BH (£aB BB B RE B g g g | FTRARH
G~ R R 4 BRI BRI - & - 4R &)
3 A e el Y - g
3.3 AR TER Y -5
3.6 ARNERVERY =7 Cp<Ed=3Cp
4 AR EBCLE R I N U
4.5 ARNERAEH? -7
4.8 AN RYEH Y -5
5.1 ADERUER Y 208 3Cp<Ed=6Cp
5.5 AR E e A
6 AN ERLEH Y - 1B
6.3 ARNERIEH? -7
6.6 MRV EHEY =5 6Cp<Ed=9Cp
7 AN ERCUE e IE B
7.5 ANERVER P -
7.8 AR EH Y -0
8.1 ORI EE Y =0 9Cp<Ed=12Cp
8.5 AN ERCUE e IE
9 ARNERVEIEP Y TP 12Cp< Ed
o LEd=3%3805 44 % 2 Pz R E(Mg/L) 5 Cp=3%3805 4 2 R K -2 (mg/L) -
2.% > 110817 1p A2 43t gt £ 8 ’Fn”j °




